Name Date

Understanding Place Value Addition
Circle the correct answer.

1. By how much would the value of 1,007 be increased if the 1 was replaced by a 7?

a6 b. 60 c. 600 d. 6,000

2. By how much would the value of 8,763 be increased if the 3 was replaced by a 8?

a.b b. 50 c. 500 d. 5,000

3. By how much would the value of 3,718 be increased if the 1 was replaced by a 5?

a4 b. 40 c. 400 d. 4,000

4. By how much would the value of 2,590 be increased if the 5 was replaced by a 6?

al b. 10 c. 100 d. 1,000

5. By how much would the value of 4,275 be increased if the 4 was replaced by a 7?

a. 3 b. 30 c. 300 d. 3,000
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Name Date

Understanding Place Value Addition
Answer Key

Circle the correct answer.

1. By how much would the value of 1,007 be increased if the 1 was replaced by a 7?

a6 b. 60 c. 600 d. 6,000

2. By how much would the value of 8,736 be increased if the 3 was replaced by a 8?

a. b c. 500 d. 5,000

3. By how much would the value of 3,718 be increased if the 1 was replaced by a 5?

a. 4 c. 400 d. 4,000

4. By how much would the value of 2,590 be increased if the 5 was replaced by a 6?
al b. 10 d. 1,000

5. By how much would the value of 4,275 be increased if the 4 was replaced by a 7?

a. 3 b. 30 c. 300 d. 3,000
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